Restar de Ceros (H)

1000

- 925

10000

- 4962

10000

- 5117

1000

- 584

10000

- 3176

10000

- 2911

10000

- 6452

Halle cada diferencia.

10000 10000
- 7892 - 5069
1000 1000
- 651 -732
10000 1000
- 7931 - 897
10000 10000
-5112 -7311
10000 10000
- 7364 -1792
1000 10000
-121 - 1489
1000 1000
- 242 - 893

10000

-9612

10000

- 2537

1000

- 504

1000

- 678

1000

-732

10000

- 3510

10000

- 8134
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Restar de Ceros (H) Respuestas

1000

- 925

75

10000

- 4962

5038

10000

- 5117

4883

1000

- 584

416

10000

- 3176

6824

10000

- 2911

7089

10000

- 6452

3548

Halle cada diferencia.

10000 10000
- 7892 - 5069
2108 4931
1000 1000
- 651 -732
349 268
10000 1000
- 7931 - 897
2069 103
10000 10000
-5112 -7311
4888 2689
10000 10000
- 7364 -1792
2636 8208
1000 10000
-121 - 1489
879 8511
1000 1000
- 242 - 893
758 107

10000

-9612

388

10000

- 2537

7463

1000

- 504

496

1000

- 678

322

1000

-732

268

10000

- 3510

6490

10000

- 8134

1866
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